Maintenance Assignment N01 : SIMPLIFYING SURDS.
Simplify without the use of calculators.

1. √(4 × 16)   =

2. √( 9 + 16 ) =

3.  √ ( 52 – 32 ) =

4.  √ 16b16    =

5.  √ 25c6d8 =


6.       49       =   
     √   36
7.  √ (x + 8)2 =

8.  √ ( x2 + 6x + 9 ) =

_________________________________

Simplify the following surds as shown in this example.

Eg    √ 48  = √ 16 × 3 
                 =  √ 16 × √3

                 =    4√3

9.   √80 =

10.  √63 =

11.  √300 =
12.   √720 =
13.   √147 = 

Simplify:

14. 4√3 + 7√3 =

15. 9√5 – 7√5 =

16.  4√7 – √7 =
Combine these surds as shown :
Eg       √8     +    √18
       =√(4×2  +    √(9×2)

       =   2√2   +     3√2
       =  5√2
17.  √32 + √18
18.   √75  –  √12 

19.  √162 + √72

Express these in the form  A + B√C
20. (2 + √5)(4 + √5)
21.  (7 –√3)(2 + √3) 

22.  (2 + 3√2)(5 + 4√2)

23.   (5 + √7)2
Rationalise the denominators:

24.     1

         √3

25.     5      

         √7

26.    2

      3 + √5  

27.   √7
        √5
28.  4 + √3
       2 – √3
29.   √7  –  √3
         √7 + √3                                         
ANSWERS N0 1
Simplify without the use of calculators.

1. √(4 × 16)   =  2×4 = 8
2. √( 9 + 16 ) = 5 not 3 + 4
3.  √ ( 52 – 32 ) = 4 not 5 – 3 

4.  √ 16b16    = 4b8
5.  √ 25c6d8 = 5c3d4

6.       49       =  7
     √   36           6
7.  √ (x + 8)2 =   x + 8

8.  √ ( x2 + 6x + 9 ) =  x + 3

_________________________________

Simplify the following surds as shown in this example.

Eg    √ 48  = √ 16 × 3 
                 =  √ 16 × √3

                 =    4√3

9.   √80 =  4√5

10.  √63 = 3√7

11.  √300 = 10√3
12.   √720 = 12√5
13.   √147 = 7√3

Simplify:

14. 4√3 + 7√3 = 11√3

15. 9√5 – 7√5 = 2√5

16.  4√7 – √7 = 3√7

Combine these surds as shown :

Eg       √8     +    √18

       =√(4×2  +    √(9×2)

       =   2√2   +     3√2
       =  5√2
17.  √32 + √18  

    =√(16×2  +  √(9×2)

    =   4√2   +     3√2
    = 7√2
18.   √75  –  √12 

     =√(25×3)  –   √(4×3)

     =   5√3   –      2√3

     = 3√3

19.  √162 + √72 

       =   9√2   +      6√2

       = 15√2
Express these in the form  A + B√C
20. (2 + √5)(4 + √5) =13 + 6√5

21.  (7 –√3)(2 + √3) = 11 + 5√3

22.  (2 + 3√2)(5 + 4√2) =34 + 23√2

23.   (5 + √7)2   = 32 + 10√7
Rationalise the denominators:

24.     1          = √3
         √3              3

25.     5      =  5√7

         √7            7  

26*.    2            = 6 – 2 √5
       3 + √5              4

27.   √7  =  √35
        √5         5

28*.  4 + √3    =  11 + 6√3
        2 – √3

29*.   √7  –  √3       =   10 – 2√21   
          √7 + √3                     4           
